

CSC 323 Algorithm Design and Analysis, Fall 2017

Instructor: Dr. Natarajan Meghanathan

Quiz 2 (September 26, 2017)

Max. Points: 25

Max. Time: 15 min.

1) (10 pts) Solve the recurrence relation: $M(n) = M(n-1) + 5$ for $n > 1$; $M(1) = 2$

$$M(n) = M(n-1) + 5 \quad \text{for } n > 1$$

$$M(n-1) = M(n-2) + 5$$

$$\Rightarrow M(n) = \{M(n-2) + 5\} + 5 = M(n-2) + (2 * 5)$$

$$M(n-2) = M(n-3) + 5$$

$$\Rightarrow M(n) = \{M(n-3) + 5\} + (2 * 5)$$

$$M(n) = M(n-3) + (3 * 5)$$

In general, $M(n) = M(n-i) + (i * 5)$

put $i = n-1$

$$n - i = 1$$

$$M(n) = M(1) + (n-1) * 5$$

$$= 2 + (n-1) * 5 = \underline{5n - 3}$$

$$\underline{\underline{M(n) = \Theta(n)}}$$

2) (15 pts) Solve the recurrence relation: $M(n) = M(n/5) + 1$ for $n > 1$; $M(1) = 2$.

$$\begin{array}{l}
 M(n) = M(n/5) + 1 \quad \text{for } n > 1 \\
 \text{Let } n = 5^k \\
 M(5^k) = M(5^{k-1}) + 1 \quad \text{for } k > 0. \\
 M(5^0) = 2.
 \end{array}
 \left. \begin{array}{l}
 n = 5^k \\
 n > 1 \\
 5^k > 1 \\
 k > 0.
 \end{array} \right\}$$

$$M(5^k) = M(5^{k-1}) + 1$$

$$M(5^{k-1}) = M(5^{k-2}) + 1$$

$$M(5^k) = \{M(5^{k-2}) + 1\} + 1$$

$$M(5^k) = M(5^{k-2}) + 2$$

$$M(5^k) = \underbrace{\{M(5^{k-3}) + 1\}}_{M(5^{k-2})} + 2 = M(5^{k-3}) + 3$$

$$M(5^k) = M(5^{k-i}) + i$$

Put $i = k$

$$M(5^k) = M(5^0) + (k) = 2 + k.$$

$$M(n) = 2 + \log_5 n = \Theta(\log n)$$